5 Times Table Multiplication
Wheels
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0 | 5| 8 | a | 14 0o | 5 | 10| 15| 20
M| 10|15 | 21 | 17 4 |12 16| 21| 25
20 | 24 | 20 | 25 | 29 8 | 44 | 40 | 35 | 30
42 | 40 | 35 | 30 | 34 12 | 52 | 45 | 44 | 33
53 | 45 | 50 | 55 | 60 47 | 49 | 50 | 55 | 60
60 | 58 | 49 | 31 | 27 60 | 55 | 54 | 44 | 21
55 | 52 | 33 | 28 | 23 4 | 50 | 48 | 17 | 14
50 | 44 | 30 | 25 | 20 40 | 45 | 51 | 13 | 9
45 | 40 | 35 | 10 | 15 35 | 19| 15 | 10 | 5
4 | 43 | 13 | 5 | 0 30 | 25 |2 | 12| 0
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Solve the puzzle by colouring all of the multiples of five.
E.G. colourin20(4 x5
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